&P

P: 800.961.7370

o 2 7 N 2

\ www.solerpalau-usa.com

AIR FLOW

BACKDRAFT DAMPERS
FOR ROOF MOUNTED SUPPLY FANS

\ |
T | A | | " |
10
MAX
AL [
MOTOR MOUNT VIOTOR MOUNT B ||\F————— B |||F— ]
MP2781 Ma220 _
NOTE !
Counter balance weight kits are required on all ‘ | !
supply dampers (gravity or motor operated). | A | e —
} A } DETAIL #1 DETAIL #2
T PLAN VIEW (TOP)
STANDARD SPECIFICATIONS:
B Maximum Face Velocity: 3000 fpm.
s Temperature limits: -40°F to 200°F (-40°C to 94°C)
””” Minimum Size: 8 x 8
Size:  Single section: 42 x 64 Max W/H
Multiple section assembly - Unlimited size.
H Frame: 20 gauge galvanized steel.
- - Blades: .025 thick aluminum.
DETAIL #3 DETAIL #4 )
HD 28 gauge galvanized steel.
CENTRIFUGAL ROOF FANS PROP ROOF FANS MOTOR TYPE Seals: Extruded vinyl mechanically locked into
HRSB, HRSBF, ARS blades.
FAN | LSF, CSF & KSF RCXII y 4 PANELS )
SizE HRSD, HRSDF sA (DETAIL) | Axles: Stainless Steel.
ASq | BSqoD | Asq | Bsqop | Asq | Bsqop | ®9 | TYPE | QT¥ Linkage: Stainless steel pins, galvanized steel tie
SIZE | FLANGE | SIZE | FLANGE | SIZE | FLANGE bar.
6or8 - 8 10-1/2 - - - MP2781 1 1 Finish: Mill.
9 16 18-1/2 - - - - - | MP2781 | 1 1
10 | 20 | 22412 8 10-1/2 - - 14 [ mP2781| 1 1 NOTES:
12 20 22.1/2 15 17-1/2 _ _ 18 | MP2781 1 1 (1) Do not mount fan less than 12 inches from the
shutter.
15 | 24 | 2612 | 15 | 72 | - - - | MP2781| 1 ' 1(2) Motors available in 24V, 120V, 240V & 440V.
16 - - - - - - 22 | MP2781 L L (3) Dampers shipped in individual cartons.
18 27 29-1/2 21 23-1/2 - - - [MP2781 | 1 1 (4) Motors and spring kits ship separately.
20 42 44-1/2 21 23-1/2 - - 26 | MP2781 1 1 (5) Center-pivoted dampers must be used on
24/26 | - - 27 29-1/2 26 | 28-112 - | mP27s1 | 1 1 reversible fans.
3033 | - B} 34 36-1/2 32 34-1/2 - mp2ret | 4 1 (6) Multiple section assemblies may require
bracing support the weight of the assembly and
36 - - 34 36-1/2 38 40-172 - [ MP2781] 1 ! to hold against system pressure. BRACING
42 - - - - 44 | 4612 | - | MA220 | t 2 SUPPLIED BY OTHERS.
48 - - - - 50 52-1/2 - MA220 1 2 (7) Multiple section dampers are factory joined
54 R R R R 56 58-1/2 - MA220 1 2 (except 72" and larger).
60 - - - - 62 | 65-1/2 - | mA220 [ 1 2 ] ) )
22 N 76 78112 [ wp2781 4 P CAUTION: Motor kits are not suitable for use in

Heavy Duty Dampers required on all

units with 7 1/2H

explosive or flammable areas or airflows.

motors and above.

ACCESSORY ITEMS

1

2 3

4

5

ACCESSORY ITEMS 112/3/4|5

|

N I

Project:

Submitted:

Location:

Customer:

Approved:

DMPR_RoofSup_Submittal_0107

Subject to change unless approved in submittal by Soler & Palau USA

SoIer&PaIau\
\Ventilation Group



S:P

P: 800.961.7370

www.solerpalau-usa.com

A |

Sq T

O_ V5" Conduit
Knockout

CAUTION: Motor kits are not suitable
for use in explosive or flammable areas

BACKDRAFT DAMPER

FOR ROOF MOUNTED AND INLINE

CENTRIFUGAL/PROPELLER EXHAUST FANS

OPTIONAL
MOTORKIT ;2.

g

Spring tension adjustment holes

For low velocity (CFM) field adjustment of spring tension may be
required to ensure that damper blades open completely.

i

AIR FLOW

OPTIONAL
=/ MOTORKIT

or airflows.
8
CENTRIFUGAL ROOF FANS INLINE FANS PROPELLER 2 <X
FAN DB, RED, TXB, LPD, TXD SQB sab ARE é AIR FLOW
SIZE IIAII IIAII “g
WwAW wAw ko)
A" SQUARE SQUARE SQUARE A" SQUARE 3
6 11 i 9 - &
]
7 - 12 - - o
8 11 12 12 - | &
9 11 - - - x N
.3 8 ¢
10 11 14 14 14 S
11/12 18 18 18 18 STANDARD SPECIFICATIONS:
Maximum Face Velocity: 2250 fpm.
14 18 - - - Dimepsion;: Sge sizing chart )
15 18 22 20 : Frame: Gaarived sl 2 bocp.
16 18 - - 22 g:Zg:s[.)ivzo?s?a;?a?n’}glsls':;ésgl] ::Iuerpgluanl? -pivot points.
18 24 24 - - Counter Balance: Adarable sping ension.
Finish: Mill.
20 24 28 - 26 Max Temp: Damper 250° F
Motor 130° F
24 30 35 - - CAUTION: Motor kits are not suitable for use in explo-
sive or flammable areas or airflows.
30 36 40 - -
NOTES:
36 36 48 - - (1) Units are undersized 1/4" to fit in square ducts.
2) D fan | han 1/3 di f the fan fi
42 48 54 _ _ ih; daomn;etrount an less than iameter of the fan from
3) D hipped in individual .
48 48 - - - {4) Motor s shi toose for feld naalaon.
ACCESSORY ITEMS 1123 /4|5 ACCESSORY ITEMS 172|345
Project: Submitted:
Customer: Approved:
Location:
Soler&PaIau\

Subject to change unless approved in submittal by Soler & Palau USA
RoofCentPropExhaustDmper_Submittal_0107_S&P(InDesign, pg1)

\Ventilation Group



S:P

P: 800.961.7370
www.solerpalau-usa.com

STANDARD FEATURES

TYPE SF

SELF-FLASHING CURB

» Constructed of 18 ga. galv. steel with continuous welded seams
and integral base plate for water tightness and extra strength.
» Wide base flashing to insure adequate bond to roofing surface

for water tight seal to roof.

* Lined with 1-1/2” fire proof sound attenuating thermal

insulation.

* Top of curb covered with 1/4” polystyrene gasket for weather
seal and to reduce metal to metal conducted noise.

J sa.

N saQ.
(K-3")

] |
(K+7") 1/4" POLYSTYRENE GASKET

ol

3"

STD 8"

§ ¢ ¢ ¢ ¢ ¢ ¢ ¢
o
_u,.
Msa.—— [
DAMPER SHELF (K-6") 17" FIBERGLASS
(OPTIONAL)  BACK DRAFT INSULATION

DAMPER (OPTIONAL)

PROJECT

LOCATION

ARCHITECT

ENGINEER

CONTRACTOR

SUBMITTED BY

DATE

P.O. NO.

OPTIONS

* Constructed of .063” aluminum.

* Interior metal liner.

« Standard heights of 12, 14, 16, 18, 20, 24”, or any
special height.

» Damper shelf - standard or custom size opening.

» Wide flange (6” or 8” wide).

» Backdraft damper.

* Protective or decorative coatings.

* Heavy-gauge construction.

SPECIFICATIONS AND DIMENSIONS

REFERENCE | QUANTITY

GALV. OR

ALUM. K N

M H

OPTIONS

Subject to change unless approved in submittal by Soler & Palau USA

SF_Submittal_0107(InDesign)

Soler&PaIau\
\Ventilation Group



S:P

P: 800.961.7370
www.solerpalau-usa.com

STANDARD FEATURES

* Heavy-gauge aluminum construction with continuous COCATION
welded seams for water tightness and extra strength.

O

Model TXB Roof \entilator

©)

K

-

Curb Cap - 1/4*

R

|..7

J
Existing Curb + 1*

E—

EXISTING CURB

CURB CAP ADAPTOR
SPUN PRODUCTS ONLY

(+ or - 4 inches)

Square ONLY - NO Rectangles

PROJECT

ARCHITECT

ENGINEER

CONTRACTOR

SUBMITTED BY

DATE P.O. NO.

K - MEASUREMENT
1/4” LESS THAN FAN BASE

J - MEASUREMENT

1" LARGER THAN EXISTING CURB O.D.

SPECIFICATIONS AND DIMENSIONS

REFERENCE

QUANTITY

K

J

OPTIONS

Subject to change unless approved in submittal by Soler & Palau USA

CurbAdaptor_Submittal_0107(InDesign)

SoIer&PaIau\
\Ventilation Group



&

P: 800.961.7370
www.solerpalau-usa.com

\ CURB HINGE ACCESSORY

YR CURS CaAP __

ITEM# | PART# DESCRIPTION QTY | ITEM# | PART# DESCRIPTION QTY
1 634012 3/8" Flat Washer 2 6 90005802 | Hinge Bracket Left Half 1
2 634025 3/8-16 Loknut 2 7 90005101 | Curb Hinge Bracket Right 1
3 603656 3/8 x 1-1/4" Long 2 8 634002 5/16-18 x 3/4 Hex Bolt 16

Spacer
4 634138 3/8-16 x 2" Long Bolt 4 9 634027 5/16-18 Flange Nut 16
5 90005702 Hinge Bracket Right 1 10 90005201 | Curb Hinge Bracket Left* 1
Half
*Items on opposite side, not shown 1 634028 13/8-16 Flange Nut 2

Note: Curb cap needs to be 2" minimum larger than the roof curb or roof curb adaptor to allow for bolt
head clearance and curb cap tilting around the roof curb or roof curb adaptor.

1.

2.

ook

With fan in place on roof curb, locate the hinge cap on both end, mark the holes for 5/16” diameter
bolts, drill (8) 11/32” diameter holes at the marked locations.

Attach the hinge cap (items 6 & 7 ) to curb cap or fan using (8) 5/16” bolts & flanged nuts, locate bolt
head on the inside of the curb cap.

With unit in place on roof curb, align curb hinge on roof curb or curb cap adaptor as shown and mark
the (8) locations in the roof curb or curb adaptor**.

Drill (8) 11/32” diameter holes in previously marked hole locations.

Attach curb hinge to roof curb using (8) 5/16” diameter bolts.

You can now tilt the fan open about 60°, use the 3/8” bolt to lock the fan in place and prevent it from
tipping or slamming shut.

Remove the locking bolt when closing back the fan in place, store the bolt next to the fan for future
openings or locks.

CAUTION: Make sure to remove grease box (if applicable) when tilting the fan to prevent any spillage.

** Two hinge pivot holes are provided in the curb hinge to allow the curb hinge to be mounted higher or
lower on the roof curb as required.

Subject to change unless approved in submittal by Soler & Palau USA SOler&PalaU\' )
CurbHinge_Submittal_0107(InDesign) \Ventllatlon Group



